
Workbook 4 samples 

 

Opener Responder 

 1♣  1♥ 

1)♠KJ83  ♥QJ54  ♦A8  ♣K73 __________________________  

2)♠10982  ♥AK3  ♦K2  ♣KJ73 __________________________  

3)♠1042  ♥Q83  ♦KJ5  ♣AK32 __________________________  

 

Answers 

Opener Responder 

 1♣  1♥ 

1) ♠KJ83  ♥QJ54  ♦A8  ♣K73 
2♥. A fit with partner, 14 points, and a minimum hand. 

2) ♠10982  ♥AK3  ♦K2  ♣KJ73 
1♠. No fit with partner, 14 points, and a four-card major which 
can be bid at the 1 level. 

3) ♠1042  ♥Q83  ♦KJ5  ♣AK32 
1NT. No fit with partner, 13 points, no four-card major that can 
be bid at the 1 level, and a balanced hand. 

 


